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Tn the circuit below, find Va. DO NOT IGNORE THE EFFECTS OF THE RAIL
VOLTAGES.

Problem 1 (25 puints)
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Problem 2 (30 points)

In the circuit below, assume (v{0),1(00) 15 (2 V, | mA).

(a) Find the equilibrium points and mark them on the i-v graph provided (2 points)
{b) Skelch the dynamic route (on the given i-v graph) (4 points)

(c) Lahel the stability of the equilibrium points (on the given i-v graph) {2 points)

(d) Sketch i(l) (S points)
(2) Sketch v(t) (5 points)

(f) I'ind the switching time(s) and mark them on i(t) and v(t) (12 points)
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Sketch v(t)
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Switching time(s):
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Problem 2 EXTRA WORKSPACE
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Prollem 3 (30 points)

The circuit below is to be used as a flip-flop. The i-v characteristic of the nonlinear
resistor is given along with a current square pulse as input.
L]

(a) Determine the equilibrium points, classify them as stable or unstable and
determine the dynamic route. (15 points)

(b) If the aniplitude of the current pulse is 10 A as shown above, calculate the
minimum T required lo move from the right equilibrium point to the left
equilibrium point. Tlse In(2) = 0.69. (15 puinis)
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i Problem 4 (12 points)

In the circuil below, find V. DO NOT IGNORE THE EFFECTS OF THE RATL
VOLTAGES!




